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The speed of stream is 3 km/hr and the speed of a
man in still water is 5 km/hr. The time taken by the

such to swim downstream is
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A) 3 hrs. B) 4 hrs
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C) 13hrs. D) 5§ hrs

A man can swim at the rate of 4 km/hr in still water. If
the speed of the water is 2 km/hr, then the time taken
by him to swim 10 km upstream is
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A) 25hrs B)3 Ehrs C)5Shrs D) 4 hrs

A man can row upstream at 12 km/hr and downstream

at 18 km/hr. The man’s rowing speed in still water is

a8 K58 arse Hg08 BIS® 12 8. /o, B
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A) 15 km/hr B) 5 km/hr

C) 3 km/hr D) 10 km/hr

Speed of a boat along and against the current are 14
kms/hr and 8 kms/hr respectively. The speed of the

current is

a8 BED @) Sk s HIS® Hda [Harse
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A) 11 km/hr B) 6 km/hr
C) 5.5 km/hr D) 3 km/hr

A man swims downstram a distance of 15 km in 1
hour. If the speed of the current is 5 km/ hour, the time
taken by the man to swim the same distance upstream
is

28 K58 Barsrnds® 15 8.8 o &roed) a8 Kotd®
BosrBostor. Dardekin @) o 5 8./Ko.
wod [Barde HBTE OIS © KB @08 Srdo

(5B othHEssHd KJ% {DHho Nos?

A) 1 hour 30 B) 45 minutes

C) 2 hours 30 minutes D) 3 hours

A motorboat in still water travels at a speed of 36 kmph.
It goes 56 kmupstream in 1 hour 45 minutes. The time

taken by it to cover the same distance down the stream
will be: D)o HBSP o8 Hs &»é&é?ﬁo 36 8.8/150.
(e é?gééé 63S® 3 HK&S 56 8.8n. &) a8
Koty 45 Q.o [HordosKed. ©od TR (5
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A) 2 hours 25 minutesB) 3 hours

C) 1 hour 24 minutes D) 2 hours 21 minutes

A man rows 40 km upstream in 8 hours and a distance

of 36 km downstream in 6 hours. Then speed of stream
is (SSC CGL Pre) a8 &8 [@arse $5808 &38° 40
8.5 © o) 8 Hots?, o H3S® 36 8.8v.0
&roed)) 6 Koers® (Hasrdosited. eow [Haese 3o

o&B?
A) 0.5 km/hr
C)1 km/hr

B)1.5 km/hr
D) 3 km/hr

1
A boat moves downstream at the rate of 1 km in 7 5

minutes and upstream at the rate of 5 km an hour.
What is the speed of the boat in the still water ?(SSC

CGL Pre) a8 535 @arse &I o8 8.8 Sroed)
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A)3 5 km/hour B)6 5 km/hour

C) 4km/hour D)8km/hour

The speed of a boat in still water is 6 kmph and the
speed of the stream is 1.5 kmph. A man rows to a
place at a distance of 22.5 km and comes back to the

starting point. The total time taken by him is: (SSC

CGL Pre) )0 IBSE® a8 555 @) Sso 6 8.3/

0. HBchn (Harsrsn Gy Jo 1.5 8.8u/Ko. a8
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A) 10 hours
C) 6 hours 10 minutes D) 8 hours

Abhi rows upstream a distance of 28 km in 4h and

B) 4 hours 10 minutes

rows downstream a distance of 50 km in 2h. To row a

distance of 44.8 km in still water, he will take: (Mains

2018) @8 (Haes $5808 H3S° 28 8.8 © &roeR) 4
Kotoe rBcio [Warse B3S® 50 8.8 © &roeR) 2
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A)32h B)28h C)24h D)22h

3
A person rows a distance of 3 n km upstream in 1 )

hours and a distance of 13 km downstream in 2 hours.

How much time (in hours) will the person take to row

a distance of 90 km in still water? (CPO 2019) 2.8
o 3 1
38 i K808 H¥S° 3 Z%ﬁb ooy 1 Koeae®

Bodrdositeh. Hiah Karsr &38° 13 8.8 nreel ]
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A) 15 B) 20 C) 18 D) 24

If a boat goes upstream of a speed 24 km/hr back the

same distance at 40 km/hr. What is the average speed
(in km/hr) for the total journey?
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A) 32 B) 30 C) 31 D) 33

A man can row at 5 kmph in still water. If the velocity

of current is 1 kmph and it takes him 1 hour to row to
place and come back, how far is the place? (SSC CGL

Pre) 2.8 58 o I8 5 8.dv/fo. Jrsns®
BEOTBOT. (HeTirssn Gog) Fisso 1 8.8n/0. w0
a8 ﬁs@@é 3% 80A SFhH. &8 do [DAireseds
088 DS Hnado 2.8 KHod. o & o dod
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A)25kmB)3km C)24km D)3.6km
A man can row 6 km/h in Stillwater. If the speed of
the current is 2 km/hr. it takes 3 hours more in upstream

than in the downstream for the same distance. The
distance is .8 58 D 5 6 8.50/K0. Siksns®
BaSrBostet. Hardridn @) Sr5kn 2 8.8/Ko.
a0, 2.8 o)) [P é?gé’ééé 638° (HoreBosmeds
K)é $oaHo Barse 8ISt (HosrBosSmeds é§
DBAeRE0E 3 Hotoen @hB0. @ond & B0 Dos?
A)30km B)24km C)20km D)32km

The speed of boat in still water is 6 km/hr more than
the speed of current. If a boat takes total 8 hr to cover

44 km in downstream and 36 km in upstream. Then
find the speed of boat in still water. dge HAS® 28
D o), Biso D Fed Bod 6 8.8v/ko. whso.
44 8.8p. e &3S 586 36 8.8 (Harse $58TE
OIS’ [HSrBoserdt. @ HESH Indo 8 Kobe
Jocho Ho&Hob. wond, dEe HBS® e HKSH BwE),

350 Dos?
A) 12 km/hr B) 14 km/hr C) 11 km/hr  D)15 km/hr

A motor-boat can travel at 10km/hr in still water. It
travelled 91 km downstream in a river and the returned
to the same place, taking altogether 20 hours. Find the
rate of flow of river.
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A)3km/r  B)4 kmv/hr C) 2 km/hr D) 5 km/hr
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A boat takes 4 hours to travel from a place X to Y
downstream and back from Y to X upstream. If the
distance from X to Y is 10.5 km, and the speed of the
current is 9 km/h, then the speed of the boat in still

water, in km/h, is: (CPO 2019) 2,8 585 X &old Y &
B 638" 39) 8OA Y ol X 8 [Hae $5808
638" 308 Tmdo 4 Howe THcho XD, X
08050 Y o S5 &rdo 10.5 8.8 H8h (Harde
Srfo 9 8.d/fow. wand, IS IBS® © BKD
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A)105 B)I1S 0) 12 D)2

The speed of boat in still water is 20 km/hr. A boat
covers 120 km and return to its initial position in total
12.5 hr. Find the speed of current. &)o@ I&S° 2.8
D8H @B Ffo 20 8.8/fo. e BEH 120 8.5
BoirBod 8BA @rdos FR8 Fwdo 12.5 Kowod,
BBA S, ®aD B S doB?

A) 5 km/hr B) 4 km/hr

C) 3 km/hr D) 2 km/hr

In a stream running at3 km/h. a motorboat goes 12 km

upstream and back to the starting point in 60 min. Find
the speed of the motorboat in still water. (SSC CGL

2019) &8 [Haraan @) SKan 3 8.80/k0. a8 HEd
28 0 ol 12 8.2, [erer 5808 H38° Hairdod
8BA @ FTE Iwdo 60 R.os® JFyn. oI
N DA & H5S DwE), Si50?

Ay 2(2+17) B) 2(4++15)
C) 3(4+17) D) 3(2++17)

The speed of a motor boat is that of the current of
water as 36:5. The boat goes along with the current in
5 hours 10 minutes. It will come back in

a8 DEH Ty R5h0 HoBAK [Harse Jiiswe QB
36:5. & HES P 6IS® 5 Kowe 10 dparen
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A) 5 hours 50 minutes B) 6 hours

C) 6 hours 50 minutes D) 12 hours 10 minutes

A boat takes half time in moving a certain distance
downstream than upstream. The ratio of the speed of
the boat in still water and that of the current is (SSC

22.
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25.

CGL Pre) 0 5080 [(05°00t0e0d a8 sxiSs [Haee
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A)2:1 B)1:2 C)4:3 D)3:1

Aboat goes 6km an hour in still water, but takes thrice

as much time in going the same distance against the
current. The speed of the current (in km/hour) is:

NS HBS® 28 HK8S 28 Ko (Hosrdosted. 528
208 &rdo [Harsr éé@éé 838° (HoTeRoDS Lrdode
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A) 4 B)5 )3 D)2

In a fixed time, a boy swims double the distance along

the current that he swims against the current. If the
speed of the current is 3 km/hr, the speed of the boy in

still water is (SSC CGL Pre) §°0¢& ?36 Jocdhod?, a8
ePentd [P é?gé’ééé BES® S0 G0 B0 (D
8IS’ KBS o Bobosen. [Harsrsn (B:oégy?iﬁaéa)

3 8.8/i50. @awd, Do & erend EwE) S50 Qos?
A) 6 km/hr B) 9 km/hr

C) 10 km/hr D) 12 km/hr

A motor boat covers a certain distance downstream in
ariver in 3 hours. It covers the same distance upstream
in 3 and half hours. If the speed of water is 1.5 km/hr,
then the speed of the boat in still water is: (SSC CGL

Pre) 2.8 &3 B 63" Fod &roed) 3 Kot
BeBoste. wod SO (e aéegééé AL o
BvogaSEYe Koexs? [Hosrdostos. [Harse SKo 1.5
&.80/50 o, RS DA &9 H5SH o) 350 Dos?
A) 17 km/hr B) 19.5 km/hr

C) 17.5 km/hr D) 19 km/h

The speed of boat in still water is 14km/hr more than
speed of current. Ratio of speed of boat in downstream

to the speed of boat in still water is 13:10. How much

distance will it cover in 3 hours downstream?

N &S B ), 3o Parese I Eo& 14
8.8o/f0. @fBo. e BIS® HES @) Sl
S8k Do ABS® HEH @) eI gy MY
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A)104km B)69km C)78km D) 126km
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